Efficiency vs dr
0.1g

I3

o
§ —=— DQM_TT__mkFit-DQM_original

LY Tl —— DQM_TT__mkFit-DQM_updated

LS

*
v

i

10_3 1072 1 071

1
TP min AR

[ Efficiency vs dr (track,jet) |
.§0.02
0.018F
E r
£.016_
9.014F
P o
9.012F
2

g E
£ 0.01
@ E
0.008[
0.006F
0.004F
0.002

10° 107 107
AR(TP, jet)

Efficiency vs pu

50.02 . .
9.018F - I

o

q) I . 14
D.014F - |{}
= o : ]
®.012F---+----{{
r N L
0.02--+--|{}
0.008F -~}
0.006 -~~~ {{

0.004F -+ - foedee b g
Y7 S TN N S S R S
0

Ratio

1.1

40 50 60 70 80 90 100
Pileup



	Contents
	Page 1


